
 

12 (Home Science) 2  

 
 

1. What is equity in teaching-learning 
process ? 

 (A) To treat every student equally. 
 (B) To provide them support as per their 

individual need. 
 (C) To provide them equal opportunity 

to grow. 
 (D) To behave with the students equally 

without any discrimination of caste, 
gender etc.  

 -       ? 
 (A)         
 (B)      

     
 (C)         
 (D) ,        

      
2. The primary task of a teacher is 
 (A) To stimulate, motivate and guide 

students’ learning. 
 (B) To teach good habits in students. 
 (C) To teach the prescribed syllabus and 

textbook units. 
 (D) To satisfy the expectations of the 

principal, parents and society. 
       
 (A)     ,   

   
 (B)       
 (C)     

    
 (D) , -    

     (A) 
 

3. What is the level of the following questions ? 
 like – ‘Prepare a diagram on ......’, 

‘Explain the components / parts of ........’, 
‘Conclude the characteristics of .......’ 

 (A) Understanding level 
 (B) Analysis level 
 (C) Creativity level 
 (D) Application level 
       ? 
  - ‘........     ’, 

‘.........  /   ’, 
‘.......     ’ 

 (A)    
 (B)   
 (C)    
 (D)     

 
 
4. _______ was the educationist who gifted 

Kindergarten Education System to the 
world. 

 (A) Gijubhai (B) Dewey 
 (C) Herbert (D) Froebel 
 _______      

       
 (A)  (B)  
 (C)  (D)  
5. MOOCs must contain the four quadrants 

as per SWAYAM guidelines.  
 Which of the following is correct list and 

sequence of these quadrants ? 
 (A) e-tutorial (video), e-text (reading 

material), self-assessment tests, 
online discussion forum 

 (B) e-text (reading material), e-tutorial 
(video), online discussion forum, 
self-assessment tests  

 (C) e-text (reading material), e-tutorial 
(video), e-tutorial (audio), self-
assessment tests  

 (D) e-tutorial (video), e-text (reading 
material), online discussion forum, 
external assessment and certification 

 SWAYAM  -   
MOOC       
         
    ? 

 (A) - (), - ( 
), - ,  
  () 

 (B) - ( ), - 
(),    (), 
-  

 (C) - ( ), - 
(), - (), -
  

 (D) - (), - ( 
),    (), 
    

6. ______ Plagiarism is allowed by UGC 
according to the latest rules and 
regulations by UGC. 

        
 _______   
()    

 (A) 05 % (B) 10% 
 (C) 15% (D) 20% 

Part-I / -I  
Compulsory /  
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7. Which of the following is not the 
example of qualitative research ? 

 (A) Ethnography (B) Survey 
 (C) Case Study (D) Focus Group 
         

   ? 
 (A) - (B)  
 (C)    (D)   
 

8. Which of the following inferential 
statistics data analysis technique will 
you use for the data that is less than 15 
and selected using Convenient Sampling 
Technique ? 

 (A) A Variance Test 
 (B) A Parametric Test 
 (C) A Non-Parametric Test 
 (D) None of these 
      

    15       
        
     ? 

 (A)    
 (B)    
 (C)    
 (D)      
 

9. Which of the following is NOT a useful 
software to analyse the data obtained 
through research ? 

 (A) Microsoft Excel (B) SPSS 
 (C) SSPS (D) PYTHON 
        

         
    ? 

 (A)   (B)  
 (C)  (D)  
 

10. Which of the following types does NOT 
belong to “Types of Interviews” in 
research ? 

 (A) Structured Interview 
 (B) Unstructured Interview 
 (C) Personal Interview 
 (D) Impersonal Interview 
         

“  ”     ? 
 (A)   
 (B)   
 (C)   
 (D)    

Read the following passage and answer the 
Questions given below : (Q. 11-15) 
 The scientific and critical mind of India 
must be reawakened from its slumber. The 
ancient culture based on the vision of the Vedic 
and Upanishadic seers did not minimise the 
importance of our earthly life. In fact, opulence, 
inner and outer, was the driving force of this 
culture. But for about a Millennium and a half 
now our culture has let go of this fine balance and 
got trapped into the ascetic denial of our terrestrial 
life. With this began the decline of the great 
Indian civilization. The present education system 
aims at making the child an information-
recording machine and a robot for making 
money. Mathematics, computers and machines 
are everywhere in these days because they are the 
gateways to lucrative jobs and subjects which do 
not enjoy this repetition - history, geography, 
languages like mother tongue and Sanskrit - are 
out. The second grave defect of our education 
system is that it is gravely denationalising. No 
German education would be regarded complete 
without a good acquaintance with Goethe, but 
Indian education has no such concern about the 
sources of our culture. It is ironical that Indian 
education is uncritically trying to emulate the 
West just when the West itself is going through a 
crisis of faith with regard to its institutions of 
education and culture. It is desperately wondering 
what has gone wrong as it faces mounting 
problems of drug addiction, teenage pregnancy 
among high school students, an existing 
hopelessness among people of all ages as well as 
a social organisation that sets a premium on greed 
rather than on compassion and love. 
         
   : (. 11-15) 
        
           
         
         : 
,   ,        
          
           
            
           
       -  
     ,      
           
          - 
, ,      -  
             
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           
         ,  
           
            
         
  ,         
              
             
   ,        
,      -   
          
            
     
11. The author of this paragraph wants to 

________ Indian culture. 
 (A) revive (B) criticize   
 (C) praise  (D) None of these 
       / 

________     
 (A)  (B)  
 (C)  (D)     
     (A) 
12. The word ‘opulence’ in this paragraph 

means ______. 
 (A) peace (B) wealth 
 (C) values (D) None of these 
    ‘’      
 (A)  (B)  
 (C)  (D)     
      
13. Which of the following is NOT an issue 

faced by the western society as per the 
above text ? 

 (A) Pre-marital sex among adolescents   
 (B) Various addictions 
 (C) Depression 
 (D) Lack of faith in God 
         

       
    ? 

 (A)        
 (B)   
 (C)  
 (D)      
 

14. “No German education would be 
regarded complete without a good 
acquaintance with Goethe.” What do you 
understand by this line of the text ? 

 (A) The author praises German 
education system. 

 (B) The author likes the German artist 
Goethe. 

 (C) The author emphasises teaching of 
arts and culture in education. 

 (D) None of these 
 “         

      ”    
      ? 

 (A)          
 (B)          
 (C)        

      
 (D)      
 

15. According to the author, our education 
system is denationalising because 

 (A) It does not teach about the great 
seers and sages of India. 

 (B) It does not teach about the great 
artists of India. 

 (C) It does not teach about the ancient 
language and literature of India. 

 (D) All of these 
   ,    

     
 (A)          

     
 (B)          

   
 (C)         

      
 (D)    
 

16. A conference or a meeting or even a 
mela or procession is a ‘communication 
event’, newspapers, radio, cinema and 
television are ‘communication media’, 
phones, computers, satellites and the 
internet are ‘communication _______’. 

 (A) spaces (B) media 
 (C) technologies (D) process 
           

    ‘ ’ , -
, ,    ‘ 
’ , , ,    
‘ _______’   

 (A)  (B)  
 (C)  (D)  
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17. The Interpretation process in 
Communication takes place in ______. 

 (A) sender (B) message 
 (C) receiver (D) channel 
     (  ) 

________     
 (A)  (sender) 
 (B)  (message) 
 (C)  (receiver) 
 (D)  (channel)  
 

18. What is of greater concern is the effect 
of ‘_________’ which could result from 
repeated exposure to scenes of violence 
in programmes, news and cartoons. 

 (A) Stereotypes 
 (B) Generalisation 
 (C) Desensitization 
 (D) None of these 
      ,  ‘_____’  

 ,  ,     
    -   
     

 (A)  (B)  
 (C)  (D)     
      
19. Environmental Stress, Competing 

Stimulus, Subjective Stress are examples of 
 (A) Noise 
 (B) Physical barrier 
 (C) Frame of reference 
 (D) Emotional barrier 
  ,  ,  

    ? 
 (A)  (B)   
 (C)   (D)   
      
20. Gestures, Grunts and Grimaces are 

examples of  
 (A) Evolution 
 (B) Non-Verbal Communication 
 (C) Noise 
 (D) Verbal communication 
 ,        ? 
 (A)  (B) -  
 (C)  (D)   
 

21. Find the missing number in the given 
series following the same pattern : 

          
     : 

 18, 24, 84, 294, 798, (?)  
 (A) 1682  (B) 1788  (C) 1867  (D) 1932  
      

22. Shyam bought an old Honda Bike and 
spent ` 1,500 on its repairs. Then Shyam 
sold it to Rohan at a profit of 20%. 
Rohan sold it to Rudra at a loss of 10%. 
Rudra finally sold it for ` 12,100 at a 
profit of 10%. How much did Shyam 
pay (in `) for the old Honda Bike ? 

          
  ` 1,500        
  20%         
   10%         
  ` 12,100  10%    
         
 (` )   ? 

 (A) ` 8,600 (B) ` 8,685 
 (C) ` 10,800 (D) ` 10,185 
 

23. There are three athletes P, Q and R at the 
same point. P starts running from a point at 
a speed of 40 m/min. After 5 minutes, Q 
starts running after P with a speed of 50 
m/min. Simultaneously, R also starts 
running after P at 60 m/min. What distance 
has R covered (in m) when he catches P ? 

   P, Q  R       P 
   40 /     
    5  , Q, P        
50 /         
 , R  P   60 /  
       P    R 
   ( )    ? 

 (A) 700/3 (B) 1000/3 
 (C) 600 (D) 1300/3  
 

24. In an election between two candidates, 
the winner got 82% of total vote cast and 
won the election by a majority of 3840 
votes. What is the total number of votes 
cast if no vote is declared invalid ? 

       ,   
     82%    
 3840         
         
         ? 

 (A) 11000 (B) 4000 
 (C) 9000 (D) 6000 
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25. Read the following information carefully 
to answer the question given below : 

 (i) X * Y means Y is mother of X. 
 (ii) X + Y means X is brother of Y. 
 (iii) X – Y means X is sister of Y. 
 (iv) X / Y means Y is father of X. 
 Which of the following definitely means 

that ‘P is grandson of Q’ ? 
          

     : 
 (i) X * Y    Y, X     
 (ii) X + Y    X, Y     
 (iii) X – Y    X, Y     
 (iv) X / Y    Y, X     
          

 ‘P, Q   ’ ? 
 (A) P * H / Q  
 (B) A – P * H / Q 
 (C) A * P * H / Q  
 (D) None of these/    
 

26. Consider the following argument : 
 Major Premise : No squares are rectangles. 
 Minor Premise : All rectangles are circles. 
 Conclusion : Some circles are not squares. 
 What is the Mood of the above proposition ? 
      : 
  - :       

  
  - :      
  :       
       ? 
 (A) E A O (B) A E O  
 (C) A I E (D) E A I 
 

27. Choose the analogy that best matches the 
example provided. 

 SOOT : GRIMY 
 (A) RAIN : SODDEN 
 (B) PALL : GAUDY  
 (C) FROST : TRANSPARENT 
 (D) DUST : RADIANT 
          

      
  :  
 (A)  : - (B)  :  
 (C) :  (D) :  

28. In following question statements are given 
and these statements are followed by 
conclusions. You have to take the given 
statements to be true even if they seem to 
be at variance from commonly known 
facts. Read the conclusions and then decide 
which of the given conclusions logically 
follows from the given statements, 
disregarding commonly known facts. 

 Statements : Some questions are 
answers. Some answers are writers. 
All the writers are poets. 

 Conclusions :  
 I. Some writers are answers. 
 II. Some poets are questions. 
 III. All the questions are poets. 
 IV. Some poets are answers. 
 (A) Only I and II follows. 
 (B) Only I and IV follows. 
 (C) Only III and IV follows. 
 (D) Only II and III follows.  
          

          
          
           
          
       ,  
          

  :           
     

  : 
 I.      
 II.      
 III.      
 IV.      
 (A)  I  II     
 (B)  I  IV     
 (C)  III  IV     
 (D)  II  III     
29. ‘Whoever thrusts a knife into another 

person should be arrested. Surgeons thrust 
a knife into another person when operating. 
Therefore, surgeons should be arrested.’ 

 Which fallacy is committed in the given 
argument ? 

 (A) Fallacy of accident 
 (B) Hasty generalization 
 (C) Appeal to unqualified authority 
 (D) Red Herring 
 ‘        

        
       ,  
     ’ 

         ? 
 (A)    
 (B)   
 (C)     
 (D)     
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30. Which of the following statements are true 
with reference to Vyapti (concomitance) 
according to the Nyaya system ? 

 (a) It expresses the relation between 
two individual objects only. 

 (b) It expresses the relation between the 
classes of individuals. 

 (c) It can be said to exist between two things 
if they are related as cause and effect. 

 (d) It can be said to exist between two things 
if they are related as species and genus. 

 Choose the correct answer from the 
options given below : 

 (A) (a), (c) and (d) only  
 (B) (c) and (d) only 
 (C) (b), (c) and (d) only 
 (D) (b) and (c) only 
      ()  

          ? 
 (a)         

   
 (b)            
 (c)           

           
 (d)          

         
    

            : 
 (A)  (a), (c)  (d) (B)  (c)  (d)  
 (C)  (b), (c)  (d) (D)  (b)  (c) 
      
Q. No. 31 to 35 : The table given below provides 
data about investment done by different persons. 
Read the table carefully and answer the questions.  
(Note : Calculate simple interest unless specified 
and all questions are independent of others). 
. 31  35 :        
             
          
( :           
       ) 

Person 
 

Rate of 
interest 
  

Time 
(Years) 

 
() 

Principal 
  

(`) 

Amount 
                  
(`) 

Amar /  3%  1,800  
Brijesh /  3%  3,000  
Chirag /   4  2,900 
Divya /   2 4,500  
Ekta /  4%  2,000  
Fenil /   2 6,000  

31. If the interest rate received by Amar and 
Chirag is in the ratio 2 : 3, then find in 
approximately how many years the 
money invested by Chirag will be 
doubled with same rate of interest. 

         2 : 3 
   ,       
         
   ? 

 (A) 33.5  (B) 20  (C) 22.22  (D) 29.40  
32. If the difference between the interest 

received by Ekta and Brijesh is ` 420 and 
Ekta invested her money for double the time 
period for which Brijesh invested his money, 
then find the amount received by Ekta. 

           
 ` 420         
          
 ,         

 (A) ` 2,298 (B) ` 2,785 
 (C) ` 3,050 (D) ` 2,960  
33. If the amount received by Chirag is 

twice the money invested by him, then 
find the amount he will receive after 2 
years if he invests same amount of 
money in compound interest for 2 years 
compounded half yearly. 

          
    ,     2  
         
  2      
       

 (A) ` 2,233.56 (B) ` 2,549.45 
 (C) ` 2,322.62 (D) ` 2,122.46  
34. If the interest received by Fenil is 20% of 

the sum invested by him, then find how 
much more money as interest he would 
have earned if he had invested the money 
in compound interest for the same years. 

          
   20% ,      
         
         

 (A) ` 80  (B) ` 60  (C) ` 65  (D) ` 75  
35. If the interest received by Fenil is ` 240 

more than interest received by Divya and the 
rate of interest received by Fenil is 2% more 
than the rate of interest received by Amar, 
then find the interest calculated by Divya. 

           
` 240         
        2%  , 
          

 (A) 1%    (B) 2%    (C) 3%    (D) 4%  
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36. Which one of the following statement(s) 
is/are true about QR code ? 

 I. It stands for Quick Read. 
 II. It is a two-dimensional bar code. 
 III. It cannot be used for cryptocurrency 

wallet addresses. 
 (A) Both I and II (B) Both II and III 
 (C) Only II (D) Only III 
     /  QR   

   / ? 
 I.     (Quick Read)   
 II.   -     
 III.       

       
 (A) I  II  (B) II  III  
 (C)  II (D)  III 
 

37. Which video compression standard is 
commonly used in video conferencing ? 

        
       ? 

 (A) H.264 (B) MPEG-2 
 (C) MPEG-4 (D) VP9  
 

38. _____ is a digital initiative of government 
of India in higher education that aims to 
promote hands-on learning of Robotics 
and embedded systems in colleges. 

 (A) E-Yantra  (B) Virtual Labs 
 (C) E-PG Pathshala (D) E-Shodh 
 _____         

        
          

 (A) - (B)   
 (C) -  (D) - 
 

39. What is the National Institutional 
Ranking Framework (NIRF) ? 

 (A) A government body responsible for 
accreditation of higher education 
institutions. 

 (B) A methodology for ranking higher 
education institutions in India. 

 (C) A platform/framework where 
students give feedback about 
colleges and universities. 

 (D) All of these 
   ()   

(NIRF)   ? 
 (A)        

     
 (B)         

    
 (C)  /     

        
 (D)     

40. What does it require to set-up an Intranet 
for an organization ? 

 (A) Computing devices 
 (B) Communication links and 

Interconnecting devices 
 (C) Protocols for enabling 

communication among devices 
 (D) All of these 
         

    ? 
 (A)   
 (B)      
 (C)         

  
 (D)     
41. Under which protocol the Clean Development 

Mechanism (CDM) is implemented ? 
 (A) Kyoto protocol 
 (B) Montero protocol 
 (C) Paris agreement 
 (D) Cartagena protocol 
        

()     ? 
 (A)   (B)   
 (C)   (D)    
42. Certified emission reduction credit represents  
 (A) Reduction in one metric tonne of sulphur 

dioxide emitted to the atmosphere. 
 (B) Reduction in one metric tonne of 

nitrogen oxide emitted to the 
atmosphere. 

 (C) Reduction in one metric tonne of carbon 
dioxide emitted to the atmosphere. 

 (D) None of these 
     (certified 

emission reduction credit)   
 (A)      

       
 (B)      

       
 (C)      

       
 (D)       
43. Arrange the crops in an ascending order 

for their water footprint. 
 (A) Wheat < Rice < Coffee 
 (B) Rice < Wheat < Coffee 
 (C) Coffee < Rice < Wheat 
 (D) Rice < Coffee < Wheat 
      (water 

footprint)         
 (A)  <  <  
 (B)  <  <  
 (C)  <  <  
 (D)  <  <   
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44. How many kilograms of CO2 is 
equivalent to 1 kg of CH4 in terms of 
global warming potential ? 

         
CO2, 1  CH4    ? 

 (A) 10 
 (B) 25 
 (C) 50  
 (D) None of these/    
45. The United Nations Conference on 

Environment and Development 
(UNCED), also known as the ‘Earth 
Summit’, brought together 
representatives from ________ countries 
to discuss about the impact of human 
________ activities on the environment. 

 (A) 179, socio-economic 
 (B) 177, socio-demographic 
 (C) 175, socio-cultural 
 (D) 173, bio conservation 
        

(),  ‘  ’  
     , ________   
     ________ 
         
      

 (A) 179, - 
 (B) 177, - 
 (C) 175, - 
 (D) 173,      
46. In most of the States of India, the Vice- 

Chancellor of a State Government 
University is appointed by _______. 

 (A) Chief Minister of the State 
 (B) Home Minister of the State 
 (C) Hon. Governor of the State 
 (D) Education Minister of the State 
         

     ________ 
     

 (A)    
 (B)     
 (C)     
 (D)       
47. Which is/are the online learning 

platform(s) in India ? 
 I. DIKSHA  II. SWAYAM 
 III. PARAKH IV. SWAYAMPRABHA 
 (A) Only I, II (B) Only I, II, III 
 (C) Only II (D) Only I, II, IV 
       / / ? 
 I.  II.  
 III.  IV.  
 (A)  I, II  (B)  I, II, III 
 (C)  II (D)  I, II, IV  

48. Which of the following institutions/ 
organisations play important role in 
designing the curriculum for all the 
levels of school education and higher 
education in all the disciplines of 
knowledge ? 

 I. NCERT II. NCTE 
 III. UGC IV. AICTE 
 (A) Only I, II (B) Only I, II, III 
 (C) I, II, III, IV (D) Only I, II, IV 
          

         
      / 
    ? 

 I.  II.  
 III.  IV.  
 (A)  I, II (B)  I, II, III 
 (C) I, II, III, IV (D)  I, II, IV  
 

49. Which of the following ancient Indian 
University was situated in Pakistan of 
present time ? 

 (A) Nalanda (B) Taxila 
 (C) Vallabhi (D) Vikramshila 
        

      
  ? 

 (A)  (B)  
 (C)  (D)   
 

50. NEP 2020 has emphasized on  
 I. starting all the engineering and medical 

courses in the vernacular languages. 
 II. reviving ancient knowledge systems. 
 III. converting all the colleges into 

multi-disciplinary universities. 
 IV. designing a new curriculum for Early 

Childhood Care and Education. 
 (A) I, II, III, IV (B) Only I, II, III 
 (C) Only I, III (D) Only II, III, IV 
  2020       ? 
 I.       

      
 II.        
 III.    - 

     
 IV.      

        
 (A) I, II, III, IV (B)  I, II, III 
 (C)  I, III (D)  II, III, IV   
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51. Match the food additives in List I with 
their functions in List II : 

List I List II 
a.  Emulsifiers i. Prevent flavour 

and colour 
changes 

b. Antioxidants ii. To remove 
cloudiness 

c. Clarifying 
agent 

iii. Prevent 
deterioration of 
food 

d. Sequestrant iv. Prevent the 
separation of oil 
and water 

  I        II  
       : 

 I  II 
a.   i.    

   
b. -

 
ii.   

  
c.   iii.    

   
d.  iv.     

    
  a b c d  
 (A) iv i ii iii 
 (B) i ii iii iv 
 (C)  ii i iii iv 
 (D) iv ii i iii  
 
52. Which of the following comes under 

high temperature preservation ? 
 (A) Freezing 
 (B) Dehydro freezing 
 (C) Quick freezing 
 (D) Pasteurization  
          

   ? 
 (A)  (B)   
 (C)   (D)   

 
 
53. Which among the following cannot be 

considered as food technology ? 
 (A) Biotechnology 
 (B) Nanotechnology 
 (C) Nutraceuticals 
 (D) Sizing  
        

    ? 
 (A)   (B)   
 (C)  (D)    
 

54. Match the material of packaging in   
List I with Food items in List II : 
 List I  List II 
a.  Polystyrene i.  perishable foods 
b. Vacuum 

packing 
ii. packs of eggs 

and sausages 
c. Shrink wrap iii. canned food 

products 
d. Aluminium iv. chocolates 

  I         II 
        : 
  I   II 
a.   i.     

 
b.   ii.     

 
c.   iii.    
d.  iv.  

  a b c d 
 (A) iv i ii iii 
 (B) i ii iii iv 
 (C)  ii i iii iv 
 (D) iv ii i iii  
 

55. The system in which food is produced 
totally from raw ingredients processed 
on the premises prior to service_____.  

 (A) Convenience food system 
 (B) Conventional food system 
 (C) Ready food system 
 (D) None of the above 
 ______       

         
       

 (A)    
 (B)    
 (C)    
 (D)        

Part-II / -II  
Home Science /   
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56. Match the instruments used in List I 
with the evaluation required in List II : 
 List I  List II 
a. Digital Salt 

meter 
i.  Salt percentage 

b. Refractometer ii. Sugar 
concentration 

c. Butyrometer iii. Butter content 
d. Brabender 

Farinograph 
iv. Plasticity of 

Wheat dough 
  I      II   

     : 
  I   II 
a.    i.    
b.  ii.   
c.  iii.   
d.   iv.     

 
  a b c d 
 (A) iv i ii iii 
 (B) i ii iii iv 
 (C)  ii i iii iv 
 (D) iv ii i iii  
 

57. Richest source of Vitamin C is 
 (A) Amla (B) Curd 
 (C) Apple (D) Carrot 
        
 (A)   (B)  
 (C)  (D)   
 

58. Assertion (A): Fish should be 
consumed by Heart patients. 

 Reason (R): It is an excellent source of 
eicosapentaenoic acid which protect 
against cardiovascular disease.  

 (A) Both (A) and (R) are correct.  
 (B) (R) is correct and (A) is wrong. 
 (C) (A) is correct and (R) is wrong. 
 (D)  Both (A) and (R) are wrong.  
  (A) :      

    
  (R) :     

         
   

 (A) (A)  (R)     
 (B) (R)    (A)    
 (C) (A)    (R)    
 (D) (A)  (R)      

59. Match the fatty acids in list I with their 
occurrence in List II : 
 List I  List II 
a. Lauric acid i.  Coconut oil 
b. Oleic acid ii. Peanut oil 
c. Arachidic 

acid  
iii. Olive oil 

d. Linolenic acid iv. Soyabean oil 

  I      II   
     : 
  I   II 
a.   

() 
i.    

b.   
() 

ii.   

c.   
() 

iii.   

d.   
() 

iv.   

  a b c d 
 (A) iv i ii iii 
 (B) i iii ii iv 
 (C)  i ii iii iv 
 (D) iv ii i iii  
 
60. Arrange the steps involved in making 

refined oil in the correct sequence : 
 I. Bleaching  
 II. Deodorization 
 III. Centrifuging and washing  
 IV. Solvent extraction and pressing  
         

    : 
 I.  
 II.  
 III.    
 IV.     
 (A)  I  II  III  IV 
 (B) II  III  I  IV 
 (C) IV  III  I  II 
 (D) III  IV  II  I   
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61. Match the symptoms in List I with 
food allergy in List II : 
 List I  List II 
a. Protein 

losing 
enteropathy 

i.  Respiratory 
Manifestation 

b. Rhinitis ii. Gastrointestinal 
Manifestation 

c. Urticaria iii. Cutaneous 
Manifestation 

d. Anaphylaxis iv. Systematic 
Manifestation 

  I        II  
      : 
  I   II 
a.    

 
i.    

b.  ii.   
 

c.  iii.  
d.  iv.  

 
  a b c d 
 (A) iv i ii iii 
 (B) i ii iii iv 
 (C)  ii i iii iv 
 (D) iv ii i iii  
 

62. Assertion (A) : Nutrition plays an 
important role in any stage of 
cancer. 

  Reason (R) : As it influences DNA 
synthesis, repair, and methylation. 

 (A) Both (A) and (R) are correct.  
 (B) (R) is correct and (A) is wrong. 
 (C) (A) is correct and (R) is wrong. 
 (D)  Both (A) and (R) are wrong. 
  (A) :      

       
   (R) :    , 

     
   

 (A) (A)  (R)     
 (B) (R)    (A)    
 (C) (A)    (R)    
 (D) (A)  (R)      

63. Arrange the stages of cancer in the 
correct order : 

 a. Carcinoma Situ  
 b. Metastasis  
 c. Initiated cell  
 d. Invasive Carcinoma  
         : 
 a.   
 b. - 
 c.    
 d.   
 (A) a b c d 
 (B) c  a d b  
 (C) c b a d 
 (D) d b c a  
 

64. Match the terms in List I with their 
correct relation in List II : 
 List I  List II 
a. Azotemia i.  loss of protein in 

urine 
b. Uremia ii. retention of urea 

in the blood 
c. Renal failure iii. no longer able to 

maintain normal 
composition of 
blood 

d. Nephrotic 
syndrome 

iv. accumulation of 
nitrogenous 
constituents in 
blood  

  I       II    
     : 
  I   II 
a.  i.      

 
b.  ii.     

 
c.  

 
iii.     

     
    

d.  
  

iv.    
   

  a b c d 
 (A) iv i ii iii 
 (B) iv ii iii i 
 (C)  ii i iii iv 
 (D) iv ii i iii  
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65. Assertion (A) : Casein and its 
preparations such as Casilan can 
be added to the beverages given to 
patient suffering from Nephrotic 
Syndrome 

 Reason (R) : As casein and casilan 
both are high in protein and low in 
sodium. 

 (A) Both (A) and (R) are correct.  
 (B) (R) is correct and (A) is wrong. 
 (C) (A) is correct and (R) is wrong. 
 (D)  Both (A) and (R) are wrong.  
   (A) :     

         
   (preparations)  
       

  (R) :      
       
     

 (A) (A)  (R)     
 (B) (R)    (A)    
 (C) (A)    (R)    
 (D) (A)  (R)      
 

66. __________act(s) as important 
markers of functional lever cell injury.  

 (A) Elevated ALT and SGPT 
 (B) Elevated Serum Albumin 
 (C) Lowered ALT and SGPT 
 (D) Lowered Serum Globulin 
 __________     

   (marker)    
    

 (A)     
 (B)    
 (C)     
 (D)      
 

67. Degeneration of hepatic cell is known 
as ______. 

 (A) Hypotonia (B) Fibrosis 
 (C) Atrophy (D) Necrosis 
      ______   

     
 (A)  (B)  
 (C)  (D)   

68. Match the terms in List I with their 
correct meaning in List II : 
 List I  List II 
a. Optimum 

nutrition 
i.  use of diet in 

sickness and 
prevention 

b. Malnutrition ii. study of diets in 
health and 
disease 

c. Dietetics iii. all dietary 
nutrients in 
proper state and 
combination 

d. Diet therapy iv. deficiency excess 
or imbalance of 
nutrients 

  I       II    
     : 

 I  II 
a.   i.      

   
b.  ii.     

   
c.  iii.    

   
   

d.  
 

iv.    , 
   

  a b c d 
 (A) iv i ii iii 
 (B) iii ii i iv 
 (C)  iii iv ii i 
 (D) iv ii i iii  
 
69. Protective function is provided by which 

major nutrients ? 
 (A) Minerals & vitamins  
 (B) Protein 
 (C) Carbohydrate 
 (D) Fat 
         

   ? 
 (A)    
 (B)  
 (C)  
 (D)     
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70. Bajra, Jowar, Maize, Ragi comes 
under which food groups? 

 (A) Fruits (B) Vegetables 
 (C) Cereals (D) Pulses 
 , , ,      

  ? 
 (A)   (B)  
 (C)  (D)   
 

71. Yarns which are classified as novelty 
yarns are  

 a. Ratine yarn  b. Simple yarn  
 c. Cotton yarn  d. Chenille yarn  
 e. Slub yarn  
          

 ,   : 
 a.   b.   
 c.   d.   
 e.   
 (A) a b c (B) b c a 
 (C) a c d (D) a d e  
 

72. Fabrics made with weave which have 
long floats and lustrous appearance is 
the characteristic of _____ weave.  

 a. Leno weave  b. Plain weave 
 c. Twill weave  d. Satin weave 
          

    , ______  
   

 a.   b.   
 c.   d.   
 (A) a d b (B) d  
 (C) b c (D) none /   
      
73. Primary properties of Fibers include 
 a. Strength 
 b. Luster 
 c. Spinning quality 
 d. Cohesiveness 
 e.  Colour  
       : 
 a.  b.  
 c.   d.  
 e.  
 (A) a c d (B) b c d 
 (C) e d a (D) a b c   

74. The burning property of which fibers 
exhibit property like burning paper ? 

 a. Cotton b. Nylon c. Linen 
 d. Silk e. None  
          

    ? 
 a.  b.  c.  
 d.  e.   
 (A) a b c d (B) a 
 (C) a c d (D) a c  
 

75. Which among the following is not the 
basic structure of weft knitting ? 

 (A) Rib (B) Purl 
 (C) Interlock (D) Tricot 
         

     ? 
 (A)  (B)   () 
 (C)  (D)   
 

76. Match the embroidery technique in 
List I with its meaning in List II : 
 List I  List II 
a. Shadow 

work  
i.  Horizontal rows of 

dots, running 
tacking stitch. 

b. Applique ii. Stitches worked 
on reverse side. 

c. Smocking iii. Layers of fabric. 
d. Quilting iv. Stitch one piece of 

design onto other 
fabric. 

  I        
II       : 
  I   II 
a.   i.      

    
 

b.  ii.     
     

c.    
   

iii.    

d.   iv.     
    
   

  a b c d 
 (A) iv i ii iii 
 (B) i ii iii iv 
 (C)  ii iv i iii 
 (D) iv ii i iii  
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77. Nano technology is used to improve 
the fabric performance which does not 
include : 

 (A) Water and oil repellency 
 (B) Seam repairs 
 (C) Antimicrobial 
 (D) UV protection 
          

       
   : 

 (A)     
 (B)   
 (C)  
 (D)        
 

78. Match the List I with List II : 
 List I  List II 
a. Micro fibers i.  Cotton 
b. Bicomponent 

fibers 
ii. Electrospinning 

c. Nano fibers iii. Two 
components 

d. Organic 
fibers 

iv. Micro denier 

  I   II    : 
  I   II 
a.   i.   
b.   ii.  
c.   iii.   
d.   iv.   

  a b c d 

 (A) iv i ii iii 

 (B) i ii iii iv 

 (C)  ii i iii iv  

 (D) iv iii ii i  

79. Eco friendly fibers that are made with 
the help of agro waste are : 

 a. Pina Tex b. Linen 
 c. Cotton d. Banana Tex 
         

     : 
 a.   b.  
 c.  d.   
 (A) a b (B) b c 
 (C) c b (D) a d  
 

80. Traditional textiles like Patola, Telia, 
Mashru and Bandhani belong to which 
technique ?  

 (A) Embroidery (B) Printing 
 (C) Dyeing (D) Applique work 

 , ,     
       ? 

 (A)  () 
 (B)  
 (C)  
 (D)      
 

81. Marks needed to help assemble garment 
sections correctly are called as 
________. 

 (A) Size of the customer 
 (B) Notches 
 (C) Dart  
 (D) None of these  
          

      _______ 
    

 (A)    
 (B)  
 (C)   
 (D)         
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82. A small amount of looseness is added 
to the garment to provide comfort to 
the wearer which is termed as:  

 (A) Tucks (B) Pleats 
 (C) Gathers (D) Ease 
         

         
   : 

 (A)  (B)  
 (C)  (D)   
 

83. Terminology used for sleeve pattern is  
 a. Sleeve cap b. Sleeve ease 
 c. Cap height d. Roll line 
 e. Round waist  
        
 a.   b.   
 c.    d.   
 e.   
 (A) a b c (B) a c d 
 (C) a d e (D) All /  
 

84. While drawing or illustrating the stripes 
/ pleats effect in a garment one should 
take into consideration few points.  

 a. Follow the hem line curves or 
folds. 

 b. Start from center and then move 
to sides. 

 c. Start from the corner. 
 d. Draw only edges and hemline. 
     /    

        
     

 a.        
  

 b.          
  

 c.       
 d.          
 (A) a, b  (B) a ,c, d 
 (C) a ,d  (D) All/  

85. While removing blood, egg, meat 
stains, care should be taken to wash it 
in cold or warm water instead of hot 
because :  

 (A) protein material makes stain hard 
and difficult to remove. 

 (B) cellulosic material makes fabric 
strong when wet.  

 (C) mineral material  
 (D) All of the above  
 , ,         

         
         

 (A)         
    

 (B)       
     

 (C)   
 (D)      
 
86. If the woollen garments are given a 

special finish they will remain______. 
 (A) Waterproof 
 (B) Moth proof  
 (C) Fire proof 
 (D) None of the above  
          

 ______    
 (A)  
 (B)    
 (C)    
 (D)        
 

87. The key body reference on which the 
body measurements are taken are :  

 (A) Vertical length 
 (B) Horizontal length  
 (C) Circumference measurements 
 (D) All of the above  
            
 (A)   (B)   
 (C)   (D)    
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88. In Sewing machine, among different 
parts spool pin & thread guide helps to  

 (A) regulate the tension or pull on the 
upper thread to keep a balanced 
stitch. 

 (B) give zig zag stitch. 
 (C)  lock the stitch.  
 (D) All of the above  
   ,      

       
 (A)        

       
   

 (B)      
 (C)   ()   
 (D)        
 

89. While selecting any garment, few 
important points one should select are :  

 (A) fabric grain 
 (B) careful matching of designs 
 (C) seams & reinforcements  
 (D) All of the above  
       ,  

        
 (A)    
 (B)     
 (C)    
 (D)      
 

90. Which of the following stitches are 
included in hand stitch ? 

 a. Back stitch  b. Basting stitch  
 c. Over locking  d. Cover stitch  
           

  ? 
 a.   b.   
 c.    d.   
 (A) a b  (B) a c d 
 (C) a d  (D) All/  

91. Arrange the steps of decision making 
in the order to reach to a solution 

 (i) Collecting all information  
 (ii) Searching for all alternatives  
 (iii) Selection of the best alternative 
 (iv) Identifying problem  
 (v) Evaluating each available 

alternative  

         
     

 (i)      
 (ii)       
 (iii)      
 (iv)      
 (v)      

  
 (A) (i) (ii) (iii) (iv) (v) 
 (B) (iv) (i) (ii) (v) (iii) 
 (C) (iv) (ii) (i) (v) (iii) 
 (D) (iv) (i) (ii) (iii) (v)   
 

92. “Home management consists of a 
series of decisions, making up the 
process of using family resources to 
achieve family goals.” Definition 
given by_______.  

 (A) Esther Crew Brathen  
 (B) Nickel and Dorsey  
 (C) Gross and Crandall 
 (D) None of the above 
 “         , 

        
      
   ”  ___     

 (A)    
 (B)    
 (C)    
 (D)        
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93. Match the work simplification technique 
with their correct explanation 
a. Pathway 

chart 
i.  close study of the 

process 
b. Process chart ii. track of all 

wasteful time 
and energy 

c. Operation 
chart 

iii. filming and use 
of bulb 

d. Cyclography iv. floor plan 
marked with 
threads 

e.  Micro motion 
film analysis 

v. filming finer 
movements 

       
     : 
a.   i.     

 
b.   ii.     

   
c.   iii.   

   
d.  iv.     

  

e.   
  

v.    
 

  a b c d e 
 (A) iv i ii iii v 
 (B) i ii iii iv v 
 (C)  ii i iii iv v 
 (D) iv ii i iii v  
 

94. Which among the below listed 
resources are not considered as human 
resource ? 

 (A) Knowledge  (B) Energy 
 (C) Skills (D) Money 
        

     ? 
 (A)  (B)  
 (C)  (D)   

95. Assertion (A): Fatigue is the result of 
prolonged excessive activity without 
obtaining sufficient rest.  

 Reason (R): Fatigue greatly enhance 
efficiency of work.  

 (A) Both (A) and (R) are correct.  
 (B) (R) is correct and (A) is wrong. 
 (C) (A) is correct and (R) is wrong. 
 (D)  Both (A) and (R) are wrong.  
  (A) :      

      
   

   (R) :      
     

 (A) (A)  (R)     
 (B) (R)    (A)    
 (C) (A)    (R)    
 (D) (A)  (R)      
 

96. Budget is the estimate of expenditure 
for a period of time and is useful for  

 (A) Set Hing guidelines for expenditure. 
 (B) Helping in setting priorities. 
 (C) Helping in measuring efficiency.  
 (D) All of the above 
         

  ______      
 (A)        
 (B)        
 (C)       
 (D)      
 

97. Stages of Family life cycle includes : 
 (A) The beginning family 
 (B) The contracting family 
 (C) The expanding family 
 (D) All of the above 
         : 
 (A)   
 (B)   
 (C)   
 (D)      
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98. Assertion (A): Management is both 
science and art.  

  Reason (R): It uses feeling, 
creativity and systematic 
understanding.  

 (A) Both (A) and (R) are correct.  
 (B) (R) is correct and (A) is wrong. 
 (C) (A) is correct and (R) is wrong. 
 (D)  Both (A) and (R) are wrong.  
  (A) :     

    
   (R) :  ,   

       
 (A) (A)  (R)     
 (B) (R)    (A)    
 (C) (A)    (R)    
 (D) (A)  (R)      
 

 

99. Match the List I with List II : 
 List I  List II 
a. Planning i.  judging the result 
b. Organising ii. aids in keeping 

the plan in 
action 

c. Controlling iii. mapping out 
courses of 
action 

d. Evaluating iv. dividing and 
grouping of 
activities 

  I   II    : 
  I   II 
a.  

 
i.      

b.  
 

ii.    
     

c.  
 

iii.     
   

d.  
 

iv.    
  

  a b c d 
 (A) iv i ii iii 
 (B) i ii iii iv 
 (C)  iii iv ii i 
 (D) iv ii i iii  

100. The number of Sustainable 
Development Goals adopted by the 
United Nations in 2015 is 

 2015        
     

 (A) 12 (B) 14 

 (C) 17 (D) 21  
 

101. The visual design in which use of 
repeating patterns, shapes, and forms 
are interpreted by the viewer is termed 
as 

 (A) Balance (B) Contrast 
 (C) Rhythm (D) Unity 
       , 

       
   ,   

 (A)  (B)  

 (C)  (rhythm) (D)   

 
102. The plot chosen by the family to make 

their home should fulfill which 
conditions 

 (A) Desirable size and shape 
 (B) Face South 
 (C) Be supplied with utilities like 

water, electricity. 
 (D) All of the above 
          

       ? 

 (A)     

 (B)     

 (C) ,      
    

 (D)      



 

12 (Home Science) 20  

103. A good kitchen must provide space 
and equipment for which activities ? 

 (A) Recreation and entertainment 

 (B) Rest and personal activities 

 (C) Storage of family needs and 
goods 

 (D) Preparation and cooking 

         

     ? 

 (A)    

 (B)     

 (C)       

 

 (D)       

104. Among the below given list which 
type of layout is considered as the best 
layout for kitchen ? 

 (A) U shaped 

 (B) L shaped 

 (C) Pullman 

 (D) Individual Centre Kitchen 

           

       

  ? 

 (A)   

 (B)   

 (C)  

 (D)       

105. Match the List I with List II : 
List I List II 

a. Horizontal 
line 

i.  Suggest grace 
and flexibility 

b. Vertical line ii. Suggest 
Movement and 
force 

c. Diagonal line iii. Suggest repose, 
steadiness 

d. Curved line iv. Suggest life, 
activity 

  I   II    : 
  I   II 
a.   i.    

   
b.   ii.    

 
c.   iii. ,  

 
d.   iv. ,  

 

  a b c d 

 (A) iv i ii iii 

 (B) i ii iii iv 

 (C)  iii iv ii i 

 (D) iv ii i iii  
 

106. Corrugated, ribbed, sandy are the 
words used to describe which element 
of design ? 

 (A) Form (B) Texture 
 (C) Line (D) Colour 
 , ,       

         ? 
 (A)  (B)  
 (C)  (D)   
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107. Which of the following designs fall 
under structural design ? 

 (A) Abstract design 
 (B) Natural design 
 (C) Architectural design 
 (D) None of the above 
        

     ? 
 (A)   
 (B)   
 (C)   
 (D)        
 

108. Match the colour schemes in List I 
with their correct meaning in List II : 
 List I  List II 
a. Monochromatic i.  tints and shades 

of a hue 
b. Complementary ii. directly 

opposite 
c. Triad 

complementary 
iii. colours at 

equilateral 
triangle 

d. Analogous iv. adjacent to each 
other 

  I      II   
      : 
  I   II 
a.  i.      

  
b.  ii.   
c.   iii.     
d.  iv.      

  a b c d 
 (A) iv i ii iii 
 (B) i ii iii iv 
 (C)  ii i iii iv 
 (D) iv ii i iii  

109. Assertion (A) : Accessories should be 
placed in the room by considering 
the space and size of the other 
furniture. 

 Reason (R) : It may lead to cluttered 
and untidy house. 

 (A) Both (A) and (R) are correct.  
 (B) (R) is correct and (A) is wrong. 
 (C) (A) is correct and (R) is wrong. 
 (D) Both (A) and (R) are wrong.  
  (A) :      

       
        

  (R) :   -   
    

 (A) (A)  (R)     
 (B) (R)    (A)    
 (C)  (A)    (R)    
 (D) (A)  (R)      
 

110. Match the light in List I with their 
correct meaning in List II : 
 List I  List II 
a. Ambient 

light 
i.  directed 

illumination on an 
object 

b. Task light ii. focussed source of 
light on work 
space 

c. Accent 
light 

iii. soft, general 
illumination 

d. Decorative 
light 

iv. comes from a 
fixture chosen for 
its attractiveness. 

  I     II     
    : 
  I   II 
a.   i.     

  
b.   ii.     

   
c.   iii. ,   
d.  

 
iv.    

    
      

  a b c d 
 (A) iv i ii iii 
 (B) iii ii i iv 
 (C)  ii i iii iv 
 (D) iv ii i iii  
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111. Growth refers to an increase in size or 
change in physical structure and 
development refers to  

 (A) Quantitative changes 
 (B) Qualitative changes 
 (C) Anthropology 
 (D) None of the above 
 ,        

       
______      

 (A)   
 (B)   
 (C) - 
 (D)        
 

112. Match the List I with List II : 
    List I  List II 
a. Proceeds 

from general 
to specific 

i.  head to foot 

b. Cephalo-
caudal 
sequence 

ii. incapable of 
specific 
responses 

c. Proximodistal 
sequence 

iii. center part of 
body to 
peripheries 

d. Development 
is correlated 

iv. physical, mental, 
social & 
emotional 

  I   II    : 
  I   II 
a.    

    
i.     

b. - 
  

ii.   
  

c.   iii.      
  

d.   
 

iv. , , 
  
 

  a b c d 
 (A) iv i ii iii 
 (B) i ii iii iv 
 (C)  ii i iii iv 
 (D) iv ii i iii  

113. Arrange the period of life span in the 
order of development 

 a. Young adulthood  
 b. Infancy  
 c. Old age  
 d. Adolescence  
 e. Toddler  
          : 
 a.   b.  
 c.   d.  
 e.    
 (A)  b e d a c 
 (B)  b d e a c 
 (C)  b e c a d 
 (D)  e d b a c  
 

114. Assertion (A): Aged people should 
follow a diet pattern, regulated to 
meet their specific needs. 

 Reason (R): They require less 
calories due to High BMR. 

 (A) Both (A) and (R) are correct.  
 (B) (R) is correct and (A) is wrong. 
 (C) (A) is correct and (R) is wrong. 
 (D)  Both (A) and (R) are wrong.  
  (A) :      

       
       

  (R) :      
       

 (A) (A)  (R)     
 (B) (R)    (A)    
 (C) (A)    (R)    
 (D) (A)  (R)      
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115. Arrange the sequence of events 
leading to disability and handicapness  

 a. Disease  b. Impairment 
 c. Disability d. Handicapness 
        

       : 
 a.  b.  
 c.  d.  
 (A) a, b, c, d  (B) b, d, c, a  
 (C) a, d, c, b (D) b, a, c, d   
116. Match the following disabilities in List 

I with their correct meaning in List II : 
 List I  List II 
a. Dysphasia i.  Partial ability to 

read 
b. Dyslexia ii. Partial inability 

to comprehend 
the spoken 
word 

c. Agraphia iii. Loss of ability 
to write 

d. Acalculia iv. Inability to 
perform 
calculations 

  I      II 
        : 
  I   II 
a.  i.     

 
b.  ii.     

   
 

c. -
 

iii.    
  

d.  iv.    
 

  a b c d 
 (A) iv i ii iii 
 (B) i ii iii iv 
 (C)  ii i iii iv 
 (D) iv ii i iii  
 

117. People of the same age group who 
share common experiences or 
demographic traits are categorized as : 

 (A) Variable 
 (B) Independent variable 
 (C) Dependent Variable 
 (D) Cohort 
          

        
    : 

 (A)  
 (B)   
 (C)   
 (D)  (Cohort)    
 
118. Match the List I (Different child 

development) with List II (Time of 
their occurrence) : 

List I 
(Different child 
development) 

List II 
(Time of their 
occurrence) 

a. Stand alone i.  10 months 
b. Hold his head ii. Third month 
c. Babbling iii. Fourth month 
d. Crawling iv. 9-12 months 

  I (  )   II 
(   )     : 

 I 

(  
) 

 II 

(   ) 

a.    i.  10  
b.   ii.   
c.  iii.   
d.    iv. 9-12  

  a b c d 
 (A) iv i ii iii 
 (B) iv iii ii i 
 (C)  ii i iii iv 
 (D) iv ii i iii  
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119. Arrange the Psychosocial Theory in 
the sequence as given by Erikson 

 i. Identity vs Role confusion  
 ii. Ego Integrity vs Despair  
 iii. Generativity vs Stagnation  
 iv. Autonomy vs Shame  
        

    : 
 i.     
 ii.     
 iii.    
 iv.    
 (A) i  ii  iii  iv  
 (B) iv  i  iii  ii 
 (C) iii  i  ii  iv  
 (D) ii  i  iv  iii  
120. Match List I with List II : 

 List I  List II 
a. Sigmund 

Freud 
i.  Moral 

Development 
b. Piaget ii. Operant 

conditioning 
c. Kohlberg iii. Cognitive 

Development 
d. Skinner iv. Psychosexual 

theory of 
personality 

  I   II    : 
  I   II 
a.   i.    
b.   ii.   
c.   iii.    
d.  iv.   

  

  a b c d 
 (A) iv i ii iii 
 (B) iv iii i ii 
 (C)  ii i iii iv 
 (D) iv ii i iii  
 

121. “Theory of natural rights” supported 
by whom :  

 (A) John Locke (B) Bentham 
 (C) Noyal Boyf (D) Karl Marx 
 “   ”   

  ?  
 (A)   (B)  
 (C)   (D)    
 

122. Arrange the steps in conducting case 
study given by Muley and 
Sabarathanam. 

 i. Collection of data  
 ii. Treatment and Interpretation of 

the data  
 iii. Locating a case to be studied  
 iv. Conclusion and Documentation 

          
      : 

 i.    
 ii.      
 iii.         

 
 iv.    
 (A) i  ii  iii  iv  
 (B) iv  i  iii  ii 
 (C) iii  i  ii  iv  
 (D) ii  i  iv  iii  
123. A group of a few close friends known as :  
 (A) Circle 
 (B) Crowd 
 (C) Clique 
 (D) None of the above  
        _____ 

      
 (A)  
 (B)  
 (C)  
 (D)        
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124. Match the Child rearing practices in 
List I with their meaning in List II : 
 List I  List II 
a.  Indulgent 

parents 
i.  direct them and 

provide them 
space. 

b. Authoritarian 
Parents 

ii. few attempts to 
direct their 
children. 

c. Authoritative 
Parents 

iii. little 
responsiveness 
to children 
needs. 

d. Uninvolved 
parents 

iv. control as much 
as possible. 

  I       II  
      : 

  I   II 

a.  
- 

i.     
    
  

b.  -
 

ii.    
   
   

c.  -
 

iii.     
    

d.  -
 

iv.    
   

  a b c d 

  (A) iv i ii iii 

 (B) i ii iii iv 

 (C)  ii iv i iii 

 (D) iv ii i iii  

125. Assertion (A) : All members in joint 
family, irrespective of age and 
earning capacity, are assured of 
care and provision of basic 
necessities. 

 Reason (R) : As the value of sharing, 

affection, cooperation, selflessness, 
sacrifice is part of joint family life. 

 (A) Both (A) and (R) are correct.  

 (B) (R) is correct and (A) is wrong. 

 (C) (A) is correct and (R) is wrong. 

 (D)  Both (A) and (R) are wrong.  

  (A) :     
        
      
     
    

  (R) :  , , , 
:,      , 
       

 (A) (A)  (R)     
 (B) (R)    (A)    
 (C)  (A)    (R)    
 (D) (A)  (R)      
 
126. Who was the founder of Bramho Samaj ?  

 (A) Gandhiji 

 (B) Keshav Chandra 

 (C) Ravindranath Tagore 

 (D) Raja Rammohan Roy 

      ?  
 (A)  
 (B)   
 (C)   
 (D)       
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127. Assertion (A) : Girls attain their adult 
height and weight two years 
earlier than boys. 

 Reason (R): Growth spurt in girls 
begins and ends about 2 years 
before it does in boys.  

 (A) Both (A) and (R) are correct.  
 (B) (R) is correct and (A) is wrong. 
 (C) (A) is correct and (R) is wrong. 
 (D) Both (A) and (R) are wrong. 
  (A) :     

        
      

  (R) :      
     2   
      

 (A) (A)  (R)     
 (B) (R)    (A)    
 (C)  (A)    (R)    
 (D) (A)  (R)      
 

128. _______ is a process of examining the 
collected raw data to detect errors and 
omissions. 

 (A) Sampling (B) Coding 
 (C) Tabulation (D) Editing 
 _______        

         
   

 (A)  (B)  
 (C)  (D)   
 
129. In research, data can be collected by  
 (A) Interview 
 (B) Questionnaire 
 (C) Observation 
 (D) All of the above  
  ,      

   ? 
 (A)  (B)  
 (C)  (D)    

130. Assertion (A) : Case study method is a 
very popular form of qualitative 
analysis.  

 Reason (R) : Deals with intensive 
investigation of the particular unit 
under consideration.  

 (A) Both (A) and (R) are correct.  
 (B) (R) is correct and (A) is wrong. 
 (C) (A) is correct and (R) is wrong. 
 (D)  Both (A) and (R) are wrong. 

  (A) :     
        

  (R) :      
     

 (A) (A)  (R)     
 (B) (R)    (A)    
 (C) (A)    (R)    
 (D) (A)  (R)      

 
131. Arrange the below given ingredients of 

communication according to the Berlo 
(1960) model of communication 

 i. Message  ii. Encoder  
 iii. Channel  iv. Receiver  
 v. Source  vi. Decoder  
    (1960)   , 

        
 : 

 i.  
 ii.  
 iii.  
 iv.  
 v.  
 vi.  
 (A) i  ii  iii  iv v vi 
 (B) v ii i iii vi iv 
 (C) ii i iii iv v vi 
 (D) i iii ii iv v vi  
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132. Match the List I (names) with the List II 
(Communication ingredients according 
to Models of communication) 
 List I  List II 
a. Shanon 

Weaver 
i.  Source, Message, 

Channel, 
Receiver and 
Effects 

b. Aristotle ii.  Communicator, 
Message, 
Channel, 
Treatment, 
Audience 

c. Rogers & 
Shoemaker 

iii. Source, 
Transmitter, 
Signal, Receiver, 
Destination 

d. Leagans iv. Speaker,  Speech, 
Audience 

  I     II     
(      ) : 

 I  II 
a.   i.  , , , 

   
b.  ii. , , , 

,  
c.   

 
iii. , , 

, , 
 

d.  iv. , ,  
  a b c d 
 (A) iv i ii iii 
 (B) i ii iii iv 
 (C)  ii i iii iv 
 (D) iii iv i ii  
 

133. An extension agent cannot be considered 
as good communicator if he/she  

 (A) cannot listen to people 
 (B) convey the required message  
 (C) interested in their welfare 
 (D) All of the above  
         

     
 (A)       
 (B)      
 (C)        
 (D)       

134. Which among the following is not the 

principle of Rural Journalism ? 

 (A) Use simple language 

 (B) Make points briefly 

 (C) Prepare a stimulating write up 

 (D) None of the above  

        

    ? 

 (A)       

 (B)      

 (C)       

 (D)        

 

135. Some of the e-governance applications 

demonstrating some impact on poverty 

alleviation, empowerment of citizens, 

increased transparency, lowered 

corruption are:  

 (A) Bhoomi Project, Karnataka 

 (B) Gyandoot 

 (C)  E-Chaupal 

 (D) All of the above  

  ,   ,  

 ,      

    -  : 

 (A)  ,  

 (B)  

 (C)  - 

 (D)      
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136. Assertion (A) : One of the good ways 
of communicating the information with 
the villagers is Folk songs. 

 Reason (R) : The villagers have great 
fascination for their folk songs and 
dance.  

 (A) Both (A) and (R) are correct.  

 (B) (R) is correct and (A) is wrong. 

 (C) (A) is correct and (R) is wrong. 

 (D)  Both (A) and (R) are wrong.  

  (A) :     
        
    

  (R) :      
        

 (A) (A)  (R)     
 (B) (R)    (A)    
 (C) (A)    (R)    
 (D) (A)  (R)      
 

137. When was the first generation Indian 
National Satellite (INSAT-IA) was 
launched from Cape Canaveral ? 

 (A) April 1982 

 (B) April 1999 

 (C) April 1984 

 (D) April 1994 

       
(INSAT-IA)       
  ? 

 (A) , 1982 

 (B) , 1999 
 (C) , 1984 

 (D) , 1994    

138. Match the terms in List I with their 
correct purpose in List II : 
 List I  List II 
a. Extension 

education 
i.  Must receive 

training. 
b. Community 

development 
ii. Education aimed 

at making group 
for economic 
and social 
development. 

c. Community 
extension 
worker 

iii. may be 
technician in 
his own right 
but not a 
subject matter 
specialist. 

d. Extension 
worker 

iv. Education aimed 
at individual 
economic and 
social 
improvement. 

  I   II    : 
  I   II 
a.   i.       

  
b.  

 
ii.    

   
    
   

c.  
 
 

iii.    
    
 - 
   

d.  
 

iv.    
   
    

  a b c d 
  (A) iv i ii iii 
 (B) iv ii iii i 
 (C)  ii i iii iv 
 (D) iv ii i iii  
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139. Match the List I with List II : 
List I List II 

a. Coefficient of 
variation 

i.  Value of the 
Variate 

b. Percentile ii. Arithmetic 
average 

c. Mode iii. Standard 
deviation 

d. Mean iv. Individual 
relative position 

  I   II    : 
 I  II 

a.   
  

i.     

b.  ii.   
c.  iii.   
d.  iv.   

 
  a b c d 
 (A) iv i ii iii 
 (B) i ii iii iv 
 (C)  iii iv i ii 
 (D) iv ii i iii  
 

140. The word concordance in the Kendall 
Coefficient of Concordance means  

 (A) Agreement (B) Similarity 
 (C) Average (D) Difference  
        

   
 (A)  (B)  
 (C)  (D)   
 

141. India launched education satellite in 
________. 

 (A) August 2004 
 (B) December 2006 
 (C) September 2004 
 (D) January 2005 
   ______       
 (A)  2004 (B)  2006 
 (C)  2004 (D)  2005  

142. Match the terms of old blooms 
taxonomy in List I with the similar terms 
of new Blooms taxonomy in List II : 

List I List II 
a. Knowledge i.  Understanding 
b. Comprehension ii. Analysing 
c. Application iii. Remembering 
d. Analysis iv. Applying 

  I        
 II        
    : 

 I  II 
a.  i.   
b.  ii.   
c.  iii.   
d.  iv.   

  a b c d 
 (A) iii i iv ii 
 (B) i ii iii iv 
 (C)  ii i iii iv 
 (D) iv ii i iii  
 

143. Assertion (A) : One third of the total 
number of seats in all the three 
tiers of Panchayat in the country is 
reserved for women.  

 Reason (R) : Due to the constitution’s 
71st Amendment Act 1991.  

 (A) Both A and R are correct.  
 (B) (R) is correct and (A) is wrong. 
 (C) (A) is correct and (R) is wrong. 
 (D) Both A and R are wrong.  
  (A) :       

        
       

  (R) :   71  
, 1991    

 (A) (A)  (R)     
 (B) (R)    (A)    
 (C) (A)    (R)    
 (D) (A)  (R)      
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144. Match the following terms in List I 
with their correct meaning in List II : 

List I List II 
a. Education i.  Outside the 

frame work of 
formal system 

b. Informal 
Education 

ii.  Highly 
Institutional 

c. Formal 
Education 

iii. Life long 
process & 
exposure at 
home etc. 

d. Non-
formal 
Education 

iv. Process of 
developing 
capabilities 

  I      II  
       : 

 I  II 

a.  i.     
   

b.  
 

ii.   

c.  
 

iii.     
    
 

d. -
 
 

iv.    
  

  a b c d 

 (A) iv i ii iii 

 (B) i ii iii iv 

 (C)  ii i iii iv 

 (D) iv iii ii i  

145. Arrange the adopter’s category on the 
basis of adopting new idea from early 
to late:  

 i. Early adopters ii. Innovators 

 iii. Early majority iv. Laggards 

 v. Late majority 

        (  
)        
    :  

 i.     

 ii.    

 iii.   

 iv.  () 

 v.    

 (A) ii, iii, i, v, iv 

 (B) iv, iii, v, i, ii 

 (C) iv, i, iii, v, ii 

 (D) ii, i, iii, v, iv    
 

146. Which of the given below is not the 
principle of Extension Education ? 

 (A) Cultural Differences 

 (B) Unity and Harmony 

 (C) Grass root 

 (D) Learning by doing 

         
   ? 

 (A)   

  (B)    

 (C)   

  (D)      
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147. Arrange the steps of entrepreneurship 
development : 

 i. Survey of environment.  

 ii. Designing techniques for training.  

 iii. Selection of person with required 
potential.  

 iv. Strategies to make entrepreneurship 
Development more effective.  

 v. Creation of infrastructure for 
training program.  

 vi. Selection and training process. 

       : 
 i.    
 ii.      
 iii.        
 iv.        

   
 v.       

  
 vi.      
 (A) iii v ii vi i iv 

 (B) i ii iii iv v vi 

 (C) v vi i ii iii iv 

 (D) iii v ii vi iv i  
 
148. Which of the below given finish is 

used to develop luster in cotton ? 

 (A) Mercerisation 

 (B) Napping 

 (C) Parchmentising 

 (D) Stentering 

          
        
 ? 

 (A)  (B)  
 (C)  (D)   

149. The specific objectives of operational 
research project do not include : 

 (A) Test, adopt, new agricultural 
technology. 

 (B) Determine profitability of new 
technology. 

 (C) Ignore constraints both 
technological and socio-economic. 

 (D)  Group demonstration  
      

    : 
 (A) ,     , 

 
 (B)        
 (C)   -  

     
 (D)      
 

150. Match the systems of extension in List I 
with their initiation year in List II : 

List I List II 
a. Applied Nutrition 

Programme 
i. 1962 

b. High Yield Variety 
Program 

ii. 1966 

c. Jawahar Rozgar Yojana iii. 1989 
d. National Rural 

Employment 
Guarantee Act 

iv. 2006 
 

  I       II   
          : 

 I  II 
a.    i.  1962 

b.      ii. 1966 

c.    iii. 1989 

d.     
  

iv. 2006 

  a b c d 
 (A) iv i ii iii 
 (B) i ii iii iv 
 (C)  ii i iii iv 
 (D) iv ii i iii  
 




